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He found a hair by her — 179 3% RS2

OVERVIEW
131 ' maintains that he found a &»°1 by the 2pn 1MR2 wWas. Our MdOIN explains
how this does not contradict a X773 in 1°77710.

nooIn asks:
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And if you will say; but the X713 states in 19977710 n20» in A''> p9p, that -
- 1ay9yn 13 XY SNWA 1193 XY YW INIYS MaY BNY PRY

Jewish daughters have no hair neither under their arms nor by their 77; so
how is it that he found a Dp» TMN2 X%/

mooIN answers:

:3‘1)23'\ 23 DNN IYNTI NN 2NN NP NAT Y Y
And one can say that this w375 was the daughter of a 981 npv, as the X713 there
answers regarding 2»n.

SUMMARY
A 2Xn nd> N2 can have hair as opposed to a regular PXw° N2.

THINKING IT OVER
Moo obviously knew (in the question) that there is hair by a °X\n no° na; why did
Moo not assume immediately that the wa9s was a 2% no* na?!*

! See *"w there in X5w 7"7 1°77710, that this means — 1°% D132 1723 WRVAY 2TIP.

> A 2N no° alludes to a gentile woman taken in captivity, where the 770 permits the soldier to marry her (see
beginning of Xxn *> nw19). Her daughter who is a regular Jewess can have hair may7i n°aa.

3 This 7an is referring to the daughter of T17; her mother was a X0 no>. She (1%n) had hair 2P 1MX2 which caused
NIK to become a 725w M3,

* See 1"nx # 226.
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